Canad. Math. Bull. Vol. **58** (2), 2015 pp. 297–305 http://dx.doi.org/10.4153/CMB-2014-026-x © Canadian Mathematical Society 2014



Approximate Fixed Point Sequences of Nonlinear Semigroups in Metric Spaces

M. A. Khamsi

Abstract. In this paper, we investigate the common approximate fixed point sequences of nonexpansive semigroups of nonlinear mappings $\{T_t\}_{t\geq 0}$, *i.e.*, a family such that $T_0(x) = x$, $T_{s+t} = T_s(T_t(x))$, where the domain is a metric space (M, d). In particular, we prove that under suitable conditions the common approximate fixed point sequences set is the same as the common approximate fixed point sequences set of two mappings from the family. Then we use the Ishikawa iteration to construct a common approximate fixed point sequence of nonexpansive semigroups of nonlinear mappings.

1 Introduction

The purpose of this paper is to prove the existence of approximate fixed points for semigroups of nonlinear mappings acting in metric spaces. Note that from a numerical point of view, approximate fixed points are very useful, since exact fixed points may be hard to find. We will also give an algorithm of how to build such approximate fixed points in the case of hyperbolic metric spaces. Let us recall that a family $\{T_t\}_{t\geq 0}$ of mappings forms a semigroup if $T_0(x) = x$ and $T_{s+t} = T_s \circ T_t$. Such a situation is quite typical in mathematics and applications. For instance, in the theory of dynamical systems, the vector function space would define the state space, and the mapping $(t, x) \rightarrow T_t(x)$ would represent the evolution function of a dynamical system. The question about the existence of common fixed points and about the structure of the set of common fixed points can be interpreted as asking whether there exist points that are fixed during the state space transformation T_t at any given point of time t, and if yes, what does the structure of a set of such points look like. In the setting of this paper, the state space is a nonlinear metric space.

The existence of common fixed points for families of contractions and nonexpansive mappings in Banach spaces has been the subject of intense research since the early 1960s, as investigated by Belluce and Kirk [1, 2], Browder [3], Bruck [4], DeMarr [8], and Lim [19]. It is worthwhile mentioning the recent studies on the special case, when the parameter set for the semigroup is equal to $\{0, 1, 2, 3, ...\}$, and $T_n = T^n$, the *n*-th iterate of an asymptotic pointwise nonexpansive mapping.

Received by the editors March 28, 2014; revised April 14, 2014.

Published electronically May 7, 2014.

The author is grateful to King Fahd University of Petroleum & Minerals for supporting research project IN121055.

AMS subject classification: 47H09, 46B20, 47H10, 47E10.

Keywords: approximate fixed point, fixed point, hyperbolic metric space, Ishikawa iterations, nonexpansive mapping, semigroup of mappings, uniformly convex hyperbolic space.

Kirk and Xu [17] proved the existence of fixed points for asymptotic pointwise contractions and asymptotic pointwise nonexpansive mappings in Banach spaces, while Hussain and Khamsi [12] extended this result to metric spaces.

2 Main Results

Recall the definition of a nonexpansive mapping defined in a metric space.

Definition 2.1 Let (M, d) be a metric space and $C \subset M$ be a nonempty subset. A mapping $T: C \to M$ is said to be *nonexpansive* if

$$d(T(x), T(y)) \le d(x, y)$$

for any $x, y \in C$. A point $x \in C$ is called a *fixed point* of *T* if T(x) = x. The set of fixed points of *T* will be denoted by Fix(*T*). A sequence $\{x_n\}$ in *C* is called an *approximate fixed point sequence* of *T* if $\lim_{n\to\infty} d(T(x_n), x_n) = 0$. The set of approximate point sequences of *T* will be denoted by *AFPS*(*T*).

Recall that in Banach spaces a nonexpansive mapping defined on a nonempty closed bounded convex subset has an approximate fixed point sequence and may not have a fixed point. This definition is now extended to a one parameter family of mappings.

Definition 2.2 Let (M, d) be a metric space and $C \subset M$ be a nonempty subset. A one-parameter family $\mathcal{F} = \{T_t ; t \ge 0\}$ of mappings from *C* into itself is said to be a *nonexpansive semigroup* on *C* if \mathcal{F} satisfies the following conditions:

(i)
$$T_0(x) = x$$
 for $x \in C$

(ii) $T_{t+s}(x) = T_t(T_s(x))$ for $x \in C$ and $t, s \in [0, \infty)$;

(iii) for each $t \ge 0$, T_t is a nonexpansive mapping.

Define the set of all common fixed points of \mathcal{F} as $Fix(\mathcal{F}) = \bigcap_{t \ge 0} Fix(T_t)$. Similarly, define the set of approximate point sequences of \mathcal{F} , denoted by $AFPS(\mathcal{F})$, as

$$AFPS(\mathcal{F}) = \bigcap_{t \ge 0} AFPS(T_t).$$

The concept of continuity for semigroups of mappings is important. Next we give the definitions that will be needed throughout.

Definition 2.3 Let (M, d) be a metric space and $C \subset M$ be nonempty. A oneparameter family $\mathcal{F} = \{T_t ; t \ge 0\}$ of mappings from C into M is said to be:

- (i) *continuous* on *C* if for any $x \in C$, the mapping $t \to T_t(x)$ is continuous, *i.e.*, for any $t_0 \ge 0$, we have $\lim_{t\to t_0} d(T_t(x), T_{t_0}(x)) = 0$, for any $x \in C$;
- (ii) *strongly continuous* on *C* if for any bounded nonempty subset $K \subset C$, we have

$$\lim_{t\to t_0} \sup_{x\in K} \left(d(T_t(x), T_{t_0}(x)) \right) = 0.$$

Recall the following lemma, which can be found in any introductory course on real analysis.

Lemma 2.4 ([23]) Let G be a nonempty additive subgroup of \mathbb{R} . Then G is either dense in \mathbb{R} or there exists a > 0 such that $G = a \cdot \mathbb{Z} = \{an ; n \in \mathbb{Z}\}$. Therefore, if α and β are two real numbers such that $\frac{\alpha}{\beta}$ is irrational, then the set

$$G(\alpha,\beta) = \{\alpha n + \beta m ; n, m \in \mathbb{Z}\}$$

is dense in \mathbb{R} . In particular, the set $G_+(\alpha, \beta) = G(\alpha, \beta) \cap [0, +\infty)$ is dense in $[0, +\infty)$.

The following technical lemmas will be useful to prove the main result of this section.

Lemma 2.5 Let (M, d) be a metric space. Let C be a nonempty subset of M. Let $T: C \to C$ be a nonexpansive mapping. Then we have $AFPS(T) \subset AFPS(T^m)$ for any $m \ge 2$.

Proof Without loss of generality we may assume that AFPS(T) is not empty. Let $\{x_n\} \in AFPS(T)$. Then we have $\lim_{n\to\infty} d(T(x_n), x_n) = 0$. Fix $m \ge 2$. Then we have

$$d(T^{m}(x_{n}), x_{n}) \leq \sum_{k=1}^{m} d(T^{k}(x_{n}), T^{k-1}(x_{n})) \leq md(T(x_{n}), x_{n})$$

for any $n \ge 1$. Since *m* is fixed and $\{x_n\} \in AFPS(T)$, we get

$$\lim_{n\to\infty}d(T^m(x_n),x_n)=0,$$

i.e., $\{x_n\} \in AFPS(T^m)$.

Lemma 2.6 Let (M, d) be a metric space and $C \subset M$ be nonempty. Let $\mathcal{F} = \{T_t ; t \ge 0\}$ be a one-parameter nonexpansive semigroup of mappings from C into C. Let α and β be two positive real numbers. Then we have

$$AFPS(T_{\alpha}) \cap AFPS(T_{\beta}) \subset \bigcap_{t \in G_{+}(\alpha,\beta)} AFPS(T_{t}).$$

Proof Without loss of generality we may assume that $AFPS(T_{\alpha}) \cap AFPS(T_{\beta})$ is not empty. Let $\{x_n\} \in AFPS(T_{\alpha}) \cap AFPS(T_{\beta})$. Recall that

$$G_{+}(\alpha,\beta) = \{m\alpha + k\beta \ge 0 ; m, k \in \mathbb{Z}\}.$$

Let $t \in G_+(\alpha, \beta)$. Then we have two cases. First assume that $t = m\alpha + k\beta$, where $m, k \ge 0$. Then

$$d(T_t(x_n), x_n) = d\big(T_{m\alpha+k\beta}(x_n), x_n\big) = d\big(T_{\alpha}^m(T_{\beta}^k(x_n)), x_n\big),$$

which implies that

$$d(T_t(x_n), x_n) \leq d(T_{\alpha}^m(T_{\beta}^k(x_n)), T_{\alpha}^m(x_n)) + d(T_{\alpha}^m(x_n)), x_n)$$

$$\leq d(T_{\beta}^k(x_n), x_n) + d(T_{\alpha}^m(x_n)), x_n),$$

for any $n \ge 1$. Using Lemma 2.5, we get $\lim_{n\to\infty} d(T_t(x_n), x_n) = 0$, *i.e.*, $\{x_n\} \in AFPS(T_t)$. Next assume that $t = m\alpha + k\beta$, where either *m* or *k* is negative. Without loss of generality assume that $t = m\alpha - k\beta$, where $m, k \ge 0$. We have

$$d(T_t(x_n), x_n) = d(T_{m\alpha-k\beta}(x_n), x_n) \le d(T_{m\alpha-k\beta}(x_n), T_{m\alpha}(x_n)) + d(T_{m\alpha}(x_n), x_n).$$

Since $T_{m\alpha} = T_{m\alpha-k\beta} \circ T_{k\beta}$, and $T_{m\alpha-k\beta}$ is nonexpansive, we get

$$d(T_t(x_n), x_n) \le d(x_n, T_{k\beta}(x_n)) + d(T_{m\alpha}(x_n), x_n) = d(x_n, T_{\beta}^{\kappa}(x_n)) + d(T_{\alpha}^{m}(x_n), x_n)$$

for any $n \ge 1$. Again using Lemma 2.5, we get $\lim_{n\to\infty} d(T_t(x_n), x_n) = 0$, *i.e.*, $\{x_n\} \in AFPS(T_t)$. Hence

$$\{x_n\} \in \bigcap_{t \in G_+(\alpha,\beta)} AFPS(T_t).$$

Now we are ready to give the main result of this section.

Theorem 2.7 Let (M, d) be a metric space and $C \subset M$ be nonempty and bounded. Let $\mathcal{F} = \{T_t : t \geq 0\}$ be a one-parameter nonexpansive semigroup of mappings from C into C. Assume that \mathcal{F} is strongly continuous. Let α and β be two positive real numbers such that $\frac{\alpha}{\beta}$ is irrational. Then we have

$$AFPS(T_{\alpha}) \cap AFPS(T_{\beta}) = AFPS(\mathcal{F}).$$

Proof Since $AFPS(\mathcal{F}) \subset AFPS(T_{\alpha}) \cap AFPS(T_{\beta})$, it is enough to prove $AFPS(T_{\alpha}) \cap AFPS(T_{\beta}) \subset AFPS(\mathcal{F})$. Without loss of generality, assume that $AFPS(T_{\alpha}) \cap AFPS(T_{\beta})$ is not empty. Let $\{x_n\} \in AFPS(T_{\alpha}) \cap AFPS(T_{\beta})$. Lemma 2.6 implies that

$$\{x_n\} \in \bigcap_{t \in G_+(\alpha,\beta)} AFPS(T_t).$$

From Lemma 2.4, we know that $G_+(\alpha, \beta) = G(\alpha, \beta) \cap [0, +\infty)$ is dense in $[0, +\infty)$. Let $t \in [0, +\infty)$. Then there exists $t_m \in G_+(\alpha, \beta)$, $m \ge 1$, such that $\lim_{m\to\infty} t_m = t$. We have

$$d(x_n, T_t(x_n)) \leq d(x_n, T_m(x_n)) + d(T_m(x_n), T_t(x_n))$$

$$\leq d(x_n, T_m(x_n)) + \sup_{x \in C} d(T_m(x), T_t(x)).$$

Let $\varepsilon > 0$. Since \mathcal{F} is strongly continuous, there exists $m_0 \ge 1$ such that for any $m \ge m_0$, we have

$$\sup_{x\in C} d\big(T_m(x), T_t(x)\big) < \varepsilon.$$

Since $\{x_n\} \in AFPS(T_{m_0})$ from Lemma 2.6, there exists $n_0 \ge 1$ such that $d(x_n, T_{m_0}(x_n)) < \varepsilon$, for any $n \ge n_0$. Hence

$$dig(x_n,T_t(x_n)ig) \leq dig(x_n,T_{m_0}(x_n)ig) + \sup_{x\in C} dig(T_{m_0}(x),T_t(x)ig) < 2arepsilon$$

for any $n \ge n_0$. Since ε was arbitrarily positive, we conclude that

$$\lim_{n\to\infty} d(T_t(x_n), x_n) = 0, \quad i.e., \{x_n\} \in AFPS(T_t).$$

As a corollary we get the following.

Corollary 2.8 Let (M, d) be a metric space and $C \subset M$ be nonempty and bounded. Let $\mathcal{F} = \{T_t : t \ge 0\}$ be a one-parameter nonexpansive semigroup of mappings from C into C. Assume that \mathcal{F} is strongly continuous. Then we have

$$AFPS(T_1) \cap AFPS(T_{\pi}) = AFPS(T_1) \cap AFPS(T_{\sqrt{2}}) = AFPS(\mathcal{F})$$

In the next section, we give an algorithm of how to construct an approximate fixed point sequence of two maps in a metric space.

3 Common Approximate Fixed Point Sequence of Two Nonexpansive Mappings

In this section we will discuss a construction of a common approximate fixed point sequence of two nonexpansive mappings defined on a hyperbolic metric space as defined by Reich and Shafrir [21] (see also [10]). This class of metric spaces includes all normed linear spaces that are hyperbolic spaces. As nonlinear examples, one can consider the Hadamard manifolds [5], the Hilbert open unit ball equipped with the hyperbolic metric [10], and the CAT(0) spaces [14–16, 18].

Let (M, d) be a metric space. Suppose that there exists a family S of metric segments such that any two points x, y in M are endpoints of a unique metric segment $[x, y] \in S([x, y] \text{ is an isometric image of the real line interval } [0, d(x, y)])$. We shall denote by $(1 - \beta)x \oplus \beta y$ the unique point z of [x, y] that satisfies

$$d(x,z) = \beta d(x,y)$$
, and $d(z,y) = (1-\beta)d(x,y)$

Such metric spaces are usually called *convex metric spaces* [20]. Moreover, if we have

$$d(\beta p \oplus (1-\beta)x, \beta p \oplus (1-\beta)y) \le (1-\beta)d(x, y)$$

for all p, x, y in M, and $\beta \in [0, 1]$, then M is said to be a *hyperbolic metric space* (see [21]).

Definition 3.1 Let (M, d) be a hyperbolic metric space. We say that M is *uniformly convex* (UC) if for any $a \in M$, for every r > 0, and for each $\epsilon > 0$

$$\delta(r,\varepsilon) = \inf\left\{1 - \frac{1}{r}d\left(\frac{1}{2}x \oplus \frac{1}{2}y,a\right); d(x,a) \le r, d(y,a) \le r, d(x,y) \ge r\varepsilon\right\} > 0.$$

The definition of uniform convexity finds its origin in Banach spaces [6]. To the best of our knowledge, the first attempt to generalize this concept to metric spaces was made in [11]. The reader may also consult [10, 13, 21].

From now on we assume that *M* is a hyperbolic metric space, and if (M, d) is uniformly convex, then for every $s \ge 0$, $\epsilon > 0$, there exists $\eta(s, \epsilon) > 0$ depending on *s* and ϵ such that

$$\delta(r,\varepsilon) > \eta(s,\epsilon) > 0$$
 for any $r > s$.

The following technical lemmas will be useful throughout.

Lemma 3.2 ([9,22]) Let X be a uniformly convex hyperbolic space. Then for arbitrary positive numbers $\varepsilon > 0$ and r > 0, and $\alpha \in [0, 1]$, we have

$$d(a, \alpha x \oplus (1-\alpha)y) \leq r(1-\delta(r, 2\min\{\alpha, 1-\alpha\}\varepsilon)),$$

for all $a, x, y \in X$, such that $d(z, x) \leq r, d(z, y) \leq r$, and $d(x, y) \geq r\varepsilon$.

Using the above lemma we obtain the following result.

Lemma 3.3 ([9,13]) *Let* (M, d) *be a uniformly convex hyperbolic metric space. Assume that there exists* $R \in [0, +\infty)$ *such that*

$$\begin{cases} \limsup_{n \to \infty} d(x_n, a) \le R, \\ \limsup_{n \to \infty} d(y_n, a) \le R, \\ \lim_{n \to \infty} d(a, \sigma_n x_n \oplus (1 - \sigma_n) y_n) = R \end{cases}$$

where $\sigma_n \in [\alpha, \beta]$, with $0 < \alpha \le \beta < 1$. Then $\lim_{n\to\infty} d(x_n, y_n) = 0$.

Let (M, d) be a hyperbolic metric space and $C \subset M$ be a nonempty convex subset. Let $T, S: C \to C$ be two mappings. Fix $x_1 \in C$. Das and Debata [7] studied the strong convergence of Ishikawa iterates $\{x_n\}$ defined by

(3.1)
$$x_{n+1} = \alpha_n S(\beta_n T(x_n) \oplus (1-\beta_n) x_n) \oplus (1-\alpha_n) x_n$$

where $\alpha_n, \beta_n \in [0, 1]$. Under suitable assumptions, we will show that $\{x_n\}$ is an approximate fixed point sequence of both *T* and *S*. Assume that *T* and *S* are nonexpansive and have a common fixed point $p \in C$. Then we have

$$d(x_{n+1}, p) = d(\alpha_n S(y_n) \oplus (1 - \alpha_n) x_n, p)$$

$$\leq \alpha_n d(S(y_n), p) + (1 - \alpha_n) d(x_n, p)$$

$$\leq \alpha_n d(y_n, p) + (1 - \alpha_n) d(x_n, p)$$

$$= \alpha_n d(\beta_n T(x_n) \oplus (1 - \beta_n) x_n, p) + (1 - \alpha_n) d(x_n, p)$$

$$\leq \alpha_n [\beta_n d(T(x_n), p) + (1 - \beta_n) d(x_n, p)] + (1 - \alpha_n) d(x_n, p)$$

$$\leq d(x_n, p),$$

where $y_n = \beta_n T(x_n) \oplus (1 - \beta_n) x_n$. This proves that $\{d(x_n, p)\}$ is decreasing, which implies that $\lim_{n\to\infty} d(x_n, p)$ exists. Using the above inequalities, we get

$$\lim_{n \to \infty} d(x_n, p) = \lim_{n \to \infty} d(\alpha_n Sy_n \oplus (1 - \alpha_n)x_n, p)$$

=
$$\lim_{n \to \infty} [\alpha_n d(Sy_n, p) + (1 - \alpha_n)d(x_n, p)]$$

=
$$\lim_{n \to \infty} [\alpha_n d(y_n, p) + (1 - \alpha_n)d(x_n, p)]$$

=
$$\lim_{n \to \infty} [\alpha_n d(\beta_n T(x_n) \oplus (1 - \beta_n)x_n, p) + (1 - \alpha_n)d(x_n, p)]$$

=
$$\lim_{n \to \infty} [\alpha_n (\beta_n d(T(x_n), p) + (1 - \beta_n)d(x_n, p)) + (1 - \alpha_n)d(x_n, p)].$$

The following result is the main theorem of this section.

Theorem 3.4 Let C be a nonempty, closed and convex subset of a complete uniformly convex hyperbolic space (M, d). Let S, T: C \rightarrow C be nonexpansive mappings such that $Fix(T) \cap Fix(S) \neq \emptyset$. Fix $x_1 \in C$ and generate $\{x_n\}$ by (3.1). Assume that $\alpha_n, \beta_n \in [\alpha, \beta]$, with $0 < \alpha \leq \beta < 1$, then

$$\lim_{n\to\infty} d(x_n, S(x_n)) = 0, \quad and \quad \lim_{n\to\infty} d(x_n, T(x_n)) = 0.$$

Proof Let $p \in Fix(T) \cap Fix(S)$. Then the sequence $\{d(x_n, p)\}$ is decreasing. Set $c = \lim_{n\to\infty} d(x_n, p)$. If c = 0, then all the conclusions are trivial. Therefore we will assume that c > 0. Note that we have

$$(3.2) \quad d(x_{n+1},p) \leq \alpha_n d\big(S(y_n),p\big) + (1-\alpha_n)d(x_n,p)$$

and

(3.3)
$$d(S(y_n), p) \le d(y_n, p) \le \beta_n d(T(x_n, p)) + (1 - \beta_n) d(x_n, p) \le d(x_n, p),$$

for any $n \ge 1$. From inequalities (3.2) and (3.3), we get

$$d(x_{n+1}, p) = d(\alpha_n S(y_n) \oplus (1 - \alpha_n) x_n, p) \le \alpha_n d(S(y_n), p) + (1 - \alpha_n) d(x_n, p)$$

$$\le d(x_n, p),$$

which implies $\lim_{n\to\infty} d(S(y_n), p) = c$. Indeed, let \mathcal{U} be a nontrivial ultrafilter over \mathbb{N} . Then we have $\lim_{\mathcal{U}} \alpha_n = \alpha_\infty \in [\alpha, \beta]$ and $\lim_{\mathcal{U}} d(x_n, p) = \lim_{\mathcal{U}} d(x_{n+1}, p) = c$. Hence

$$c \leq \alpha_{\infty} \lim_{M} d(Sy_n, p) + (1 - \alpha_{\infty})c \leq c.$$

Since $\alpha_{\infty} \neq 0$, we get $\lim_{\mathcal{U}} d(Sy_n, p) = c$. Since \mathcal{U} was arbitrary, we get

$$\lim_{n\to\infty}d(S(y_n),p)=c$$

as claimed. Therefore, we have

$$\lim_{n\to\infty} d(x_n,p) = \lim_{n\to\infty} d\big(Sy(n),p\big) = \lim_{n\to\infty} d\big(\alpha_n S(y_n) \oplus (1-\alpha_n)x_n,p\big) = c.$$

Using Lemma 3.3, we get $\lim_{n\to\infty} d(S(y_n), x_n) = 0$. Next from (3.2) and (3.3), we get

$$d(x_{n+1}, p) \le \alpha_n d(y_n, p) + (1 - \alpha_n) d(x_n, p) \le d(x_n, p)$$

which implies $\lim_{n\to\infty} [\alpha_n d(y_n, p) + (1 - \alpha_n) d(x_n, p)] = c$. Since $\lim_{n\to\infty} \inf_{n\to\infty} \alpha_n \ge \alpha > 0$, we conclude that $\lim_{n\to\infty} d(y_n, p) = c$. Since $\beta_n \ge \alpha > 0$, we get $\lim_{n\to\infty} d(T(x_n), p) = c$ in a similar fashion. Therefore we have

$$\lim_{n\to\infty} d(x_n,p) = \lim_{n\to\infty} d\big(T(x_n),p\big) = \lim_{n\to\infty} d\big(\beta_n T(x_n) \oplus (1-\beta_n)x_n,p\big) = c.$$

Using Lemma 3.3, we get $\lim_{n\to\infty} d(T(x_n), x_n) = 0$. Finally, since $d(x_n, S(x_n)) \le d(x_n, S(y_n)) + d(S(y_n), S(x_n))$

$$\begin{split} l(x_n,S(x_n)) &\leq d(x_n,S(y_n)) + d(S(y_n),S(x_n)) \\ &\leq d(x_n,S(y_n)) + d(y_n,x_n) \\ &= d(x_n,S(y_n)) + \beta_n d(T(x_n),x_n) \\ &\leq d(x_n,S(y_n)) + d(T(x_n),x_n) \,, \end{split}$$

we conclude that $\lim_{n\to\infty} d(x_n, S(x_n)) = 0$.

Remark 3.5 The existence of a common fixed point of *T* and *S* is crucial. If one assumes that *T* and *S* commute, *i.e.*, $S \circ T = T \circ S$, then a common fixed point exists under the assumptions of Theorem 3.4 if we assume that *C* is bounded. Indeed, fix $x_0 \in C$ and define

$$T_n(x) = \frac{1}{n} x_0 \oplus \left(1 - \frac{1}{n}\right) T(x),$$

M. A. Khamsi

for $x \in C$, and $n \ge 1$. Then

$$d\big(T_n(x), T_n(y)\big) = d\Big(\frac{1}{n}x_0 \oplus \Big(1 - \frac{1}{n}\Big)T(x), \frac{1}{n}x_0 \oplus \Big(1 - \frac{1}{n}\Big)T(y)\Big)$$

$$\leq \Big(1 - \frac{1}{n}\Big)d\big(T(x), T(y)\big) \leq \Big(1 - \frac{1}{n}\Big)d(x, y),$$

for any $x, y \in C$. That is, T_n is a contraction. The Banach Contraction Principle implies that T_n has a unique fixed point u_n in *C*. Since *C* is bounded and

$$d(u_n, T(u_n)) = d\left(\frac{1}{n}x_0 \oplus \left(1 - \frac{1}{n}\right)T(u_n), T(u_n)\right) \leq \frac{1}{n}d(x_0, T(u_n)),$$

we get $d(u_n, T(u_n)) \rightarrow 0$. Define the function

$$\tau(x) = \limsup_{n \to \infty} d(u_n, x).$$

Since *M* is uniformly convex, τ has a unique minimum point $p \in C$, *i.e.*,

$$\tau(p) = \inf\{\tau(x) ; x \in C\},\$$

and $\tau(p) < \tau(x)$, for any $x \neq p$. Since $\{u_n\}$ is an approximate fixed point sequence of *T*, we have

$$\limsup_{n\to\infty} d(u_n, T(p)) = \limsup_{n\to\infty} d(T(u_n), T(p)) \le \limsup_{n\to\infty} d(u_n, p).$$

Hence $\tau(T(p)) \leq \tau(p)$, which implies p = T(p). Since *M* is strictly convex, Fix(*T*) is a nonempty convex subset of *M*. Since *T* and *S* commute, we have $S(Fix(T)) \subset Fix(T)$. The above proof shows that *S* has a fixed point in Fix(*T*); *i.e.*, *T* and *S* have a common fixed point.

References

- L. P. Belluce and W. A. Kirk, Fixed-point theorems for families of contraction mappings. Pacific. J. Math. 18(1966), 213–217. http://dx.doi.org/10.2140/pjm.1966.18.213
- [2] _____, Nonexpansive mappings and fixed-points in Banach spaces. Illinois. J. Math. 11(1967), 474–479.
- [3] F. E. Browder, Nonexpansive nonlinear operators in a Banach space. Proc. Nat. Acad. Sci. U.S.A. 54(1965), 1041–1044. http://dx.doi.org/10.1073/pnas.54.4.1041
- [4] R. E. Bruck, A common fixed point theorem for a commuting family of nonexpansive mappings. Pacific. J. Math. 53(1974), 59–71. http://dx.doi.org/10.2140/pjm.1974.53.59
- H. Busemann, Spaces with non-positive curvature. Acta. Math. 80(1948), 259–310. http://dx.doi.org/10.1007/BF02393651
- [6] J. A. Clarkson, Uniformly convex spaces. Trans. Amer. Math. Soc. 40(1936), no. 3, 396–414. http://dx.doi.org/10.1090/S0002-9947-1936-1501880-4
- [7] G. Das and P. Debata, *Fixed points of quasi-nonexpansive mappings*. Indian J. Pure Appl. Math. 17(1986), no. 11, 1263–1269.
- [8] R. E. DeMarr, Common fixed-points for commuting contraction mappings. Pacific. J. Math. 13(1963), 1139–1141. http://dx.doi.org/10.2140/pjm.1963.13.1139
- [9] H. Fukhar-ud-din and M. A. Khamsi, Approximating common fixed points in hyperbolic spaces. Fixed Point Theory Appl., to appear.
- [10] K. Goebel and S. Reich, Uniform convexity, hyperbolic geometry, and nonexpansive mappings. Monographs and Textbooks in Pure and Applied Mathematics, 83, Marcel Dekker, New York, 1984.
- [11] K. Goebel, T. Sekowski, and A. Stachura, Uniform convexity of the hyperbolic metric and fixed points of holomorphic mappings in the Hilbert ball. Nonlinear Anal. 4(1980), no. 5, 1011–1021. http://dx.doi.org/10.1016/0362-546X(80)90012-7
- [12] N. Hussain and M. A. Khamsi, On asymptotic pointwise contractions in metric spaces. Nonlinear Anal. 71(2009), no. 10, 4423–4429. http://dx.doi.org/10.1016/j.na.2009.02.126

Approximate Fixed Point Sequences of Nonlinear Semigroups

- [13] M. A. Khamsi and A. R. Khan, Inequalities in metric spaces with applications. Nonlinear Anal. 74(2011), no. 12, 4036–4045. http://dx.doi.org/10.1016/j.na.2011.03.034
- [14] W. A. Kirk, An abstract fixed point theorem for nonexpansive mappings. Proc. Amer. Math. Soc. 82(1981), no. 4, 640–642. http://dx.doi.org/10.1090/S0002-9939-1981-0614894-6
- [15] _____, Fixed point theory for nonexpansive mappings. II. In: Fixed points and nonexpansive mappings (Cincinnati, Ohio, 1982), Contemp. Math. 18, American Mathematical Society, Providence, RI, 1983, pp. 121–140.
- [16] _____, *A fixed point theorem in CAT*(0) *spaces and R-trees.* Fixed Point Theory Appl. **2004**, no. 4, 309–316.
- W. A. Kirk and H. K. Xu, Asymptotic pointwise contractions. Nonlinear Anal. 69(2008), no. 12, 4706–4712. http://dx.doi.org/10.1016/j.na.2007.11.023
- [18] L. Leustean, A quadratic rate of asymptotic regularity for CAT(0)-spaces. J. Math. Anal. Appl. 325(2007), no. 1, 386–399. http://dx.doi.org/10.1016/j.jmaa.2006.01.081
- [19] T. C. Lim, A fixed point theorem for families of nonexpansive mappings. Pacific J. Math. 53(1974), 487–493. http://dx.doi.org/10.2140/pjm.1974.53.487
- [20] K. Menger, Untersuchungen über allgemeine Metrik. Math. Ann. 100(1928), no. 1, 75–163. http://dx.doi.org/10.1007/BF01448840
- [21] S. Reich and I. Shafrir, Nonexpansive iterations in hyperbolic spaces. Nonlinear Anal. 15(1990), no. 6, 537–558. http://dx.doi.org/10.1016/0362-546X(90)90058-O
- [22] T. Shimizu, A convergence theorem to common fixed points of families of nonexpansive mappings in convex metric spaces. In: Nonlinear analysis and convex analysis, Yokohama Publ., Yokohama, 2007, pp. 575–585.
- [23] I. Stewart and D. Tall, *Algebraic number theory and Fermat's last theorem*, Third ed., A K Peters Ltd, Natick, MA, 2002.

Department of Mathematical Sciences, University of Texas at El Paso, El Paso, TX 79968, USA and

Department of Mathematics and Statistics, King Fahd University of Petroleum and Minerals, Dhahran 31261, Saudi Arabia

e-mail: mohamed@utep.edu mkhamsi@kfupm.edu.sa